Job 41299: Beampipe-averaged Cloud Density (1012 m'3)

08 | \ \ \ \ \ \ \ \
07 |
06 |
5 05|
-
(q\|
i
Q o4} \
N 6.
> %
o )
D
& o3|
A ' 5
C [ ]
o)
| -
g
W o2 |
‘ | | ‘ | | ‘ | | ‘ | | | ‘ | | | ‘ | | | ‘ | | | ‘ |

434 436 438 440 442 444 446 448

Time (ns)



15/12/09 12.26

Job 41299: Cloud charge shapshots
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Job 41299 Cloud charge shapshots
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Job 41299:

Fitsto cloud charge X distribution
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Job 41299: Fitsto cloud charge X distribution
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Job 41299: Fitsto cloud charge Y distribution
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Job 41299: Fitsto cloud charge Y distribution
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Job 41299: Fitsto cloud charge X distribution
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Job 41299: Fitsto cloud charge Y distribution
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Beam-averaged density prior to filled bunches (1012 m'3)
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Central 20-sigma density prior to filled bunches (1012 m'3)
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Electron Density (1012 m'3)

Beam-averaged density at peak bunch current (1012 m'3)
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. Field Gradient dE, /dX (V/m’)
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. Field Gradient dE, /dX (V/m’)
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: 50 Central Density (10" m™)
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: Beam-weighted Density (10 m®)
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: Beam-weighted Density (10 m®)
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: Beam-weighted Density (10 m®)
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: Beam-weighted Density (10 m®)
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